12000

10000

BOOO

6000

4000

2000

0

Run 5902 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

B Entries 24694

B Mean —-BE7. 8

B Sid Dev  1.2810+05

B | | | | | | | | | | | | 1 1 1 | I | | | | | | | 3"3;1 ﬂﬁ
—20 -15 10 -5 0

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples - 0.802177)

000

G000

5000

4000

3000

2000

1000

0

Run 5902 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

|_|—|-|_|

guamstwisa baami las! asymi

Erlries TEhd
Mean 20.69
Sid Dav  1.492e+04
|
L1 =10

—400

—200

0

200

400

600

BOO

gHelNSamples0})/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 0.802177)

BOOD

7000

6000

5000

4000

3000

2000

1000

0

Run 5902 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb
— Enfries 15872
- Mean —-1328
- Sid Dev  1.606e+05
— L]
[ 1 I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 =1 ﬂ
—20 -15 -10 -5 0

Run 5802 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

gHelNSamples0)/|PosHelAccO/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.802177)

quamstwiza baomi losl asymi
Entries 0
Mean 0
Std Dev 0




Run 5902 quartetwise, Diffs0: All Run 5902 quartetwise, Diffs0: Beam OFF

guartetwise diff0 quartetwise_Dbeami_difo
~ Entries 24694 1000 — Enlries 15872
- Mean -0.001871 B Mean —2.734a-08
1400 — Sid Dey  0.04513 B Sid Dev 0.04571
1200 - soo—
1000 [— B
— 600 —
800 — u
B0 [ 400 —
400 — |
B 200—
200 — B
l|::|_I|IJ.II||J- | IIJ__IJ_IIII D_IlJ_J.J_J_II IIILI_Lll
0.3 0.2 -0.1 0 0.1 0.2 0.3 0.3 0.2 -0.1 0 0.1 0.2 0.3
PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSampleso
Run 5902 quartetwise, Diffs0: Beam ON, Laser ON - Run 5902 quartetwise, Diffs0: Beam ON, Laser OFF
quanebwise_beaml_las? ot — quanebwise_beami_last diif
300 Enftries 7654 — Entries 0
- Mean ~0.005258 — Mean 0
B Std Dev  0.04393 — Std Dev 0
250 |— -
200 — -
150 {— —
100 — =
50— =
0 oo (I N T T NN T T N A A T A Lig 1 :_
-0.15 -0 -0.05 0 0.05 0.1 0.15 —
PosHelAccO/PosHelNSamples( - NegHelAccO/NegHelNSampleso —
N T T N T T T T T T T T N T T T T T T N T T T O N |




1000

B0

600

400

200

250

200

150

100

50

Run 5802 quartetwise, NegHelAccO/NSamples0: All

quartetwize_negHQ
— Entries 24694
B Mean 0.3359
B Std Dev 01067
_I 4 N - J_ 1
0 0.2 0.4 0.6 0.8
MNegHelAccD/NegHelNSampleso
Run 5902 quartetwise, NegHelAccO/NSamples0: Beam ON, Laser ON
guanctwisd baami las® nagHD
[ Entries 7654
— Mean 0.4037
— Std Dev  0.08775
[ 1 1 I |
0.2 0.3 0.4 0.5 0.6 0.7

MNegHelAccl/NegHelNSamplesd

700

600

500

400

300

200

100

Run 5802 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF

guarebwise_bsamd negkll
— Entries 15872
— Mean 0.3084
- Std Dev 0.0099
[ 1 I KRR R NP
0.2 0.4 0.6 0.8

MNegHelAccO/NegHelNSamplesO

Run 5802 quartetwise, NegHslAcclVNSamples: Beam ON, Laser OFF

ﬂ.im.“““ﬂ kaami lasl HIIEH[I
Entries 0
Mean 0
Std Dev 0




Run 5902 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO

B Entries 24694

1000 — Mean 0.3341

| Std Dev 0.1059
800 —
600 —
400 —
200 H—

gL | L
0.2 0.2 0.4 0.6 0.8
PosHelAccO/PosHelNSamplesD
Run 5902 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser ON

gurarnstwiss haami las! posHG

— Entries 7654

[ Mean 0.3985

250 — Std Dev 0.0B762
200 —
150 [—
100 |—
50—

0 N |
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7

PosHelAccO/PosHelNSamplasD

Run 5902 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

800 — Entries 15872

— Mean 0.3084
700 Std Dev  0.1002
600 —
500 —
400 —
300 —
200 —
100 —

'D :I 1 l 1 l_ 1
0.2 0 0.2 0.4 0.6 0.8

PosHelAccO/PosHelNSamplesD

Run 5902 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

auamstwiza baami lasl posko

Entries 0
Mean 0
Std Dewv 0




1000

B0

600

400

200

250

200

150

100

50

Run 5902 quartetwise, Sums0: All

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 5902 quartetwise, Sums0: Beam ON, Laser ON

quartetwize_summbD
| Entries 24694
| Mean 0.67
- Std Dev 0.2078
11 | 1 1.l 11 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 I e L I_| 1
-0.2 0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6

cuanchwisa koami las! swmmi
B Entries 7654
B Mean 0.8022
— Std Dev 0.1693
I . T T TN [N TN TN T NN NN NN SN NN NN N T
0.2 0.4 0.6 0.8 1 1.2 1.4

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamplesO

100

600

500

400

300

200

100

Run 5902 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

Entries
Mean
Std Dew

15872
0.6168
0.1948

L 11 1.l II|III|III|III|III|II |—|J_J_J_I_|I

-0.2 0 D.2 0.4 0.6 0.8 1 1.2 1.4 1.6

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSamples0

Run 5902 quartetwise, Sums(: Beam ON, Laser OFF

quannstwisa baami lasl sumimil
Entries 0
Mean 0
Std Dev 0




